

$$g'(\frac{\pi}{4}) = \sqrt{r} = f'(\underbrace{\tan^n x + \sqrt{r} \cos x}_r) \times \left(r \tan x \frac{(1 + \tan^2 x)}{r} - \sqrt{r} \sin x \right) \xrightarrow{x=\frac{\pi}{4}} \quad (1)$$

$$r f'(r) = \sqrt{r} \rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f'(\frac{\sqrt{r}}{4}) - r g'(\frac{\sqrt{r}}{4}) = (f - rg)'(\frac{\sqrt{r}}{4}) \rightarrow \frac{1 + \cos^2 r}{r - \cos r} - \frac{r}{r - \cos r} = \frac{1 + \cos^2 r - r(r + \cos r)}{r - \cos^2 r} = (r$$

$$\frac{\cos x (\cos^2 x - r)}{r - \cos^2 x} = -\cos x = \frac{\sqrt{r}}{r}$$

$$\text{مشتق اول} = \frac{(r_n - r)a}{r\sqrt{an}} + r\sqrt{an}$$

$$\text{مشتق دوم} = \frac{-a(r_n - r)}{r\sqrt{an}} - r\sqrt{an} \quad (2)$$

$$\text{اختلاف مشتق دوم و اول} = \frac{(r_n - r)a}{\sqrt{an}} + r\sqrt{an} \rightarrow \sqrt{\frac{r}{a}} = r\sqrt{4} \rightarrow a = \frac{1}{r}$$

$$f(x) = r - xa \rightarrow r - \omega a = -1 \rightarrow a = \frac{r}{\omega} \quad f'(x) = -a = -\frac{r}{\omega}$$

$$f'(x) = -a$$

(3)

$$\frac{x+\omega}{V} = \frac{ax-1}{r_n+1} \rightarrow V(ax-1) = (x+\omega)(r_n+1) \rightarrow$$

(4)

$$r_n^2 + (14 - Va)x + 1r = 0 \xrightarrow{\Delta=0} (14 - Va)^2 = 1r \rightarrow 14 - Va = \pm 1r \rightarrow$$

$$\begin{cases} a = \frac{r}{V} \rightarrow \frac{x+\omega}{V} = \frac{\frac{r}{V}x-1}{r_n+1} \rightarrow x = -r \\ a = \frac{r}{V} \rightarrow \frac{x+\omega}{V} = \frac{\frac{r}{V}x-1}{r_n+1} \rightarrow x = r \end{cases} \rightarrow \text{نقطه برخورد در ناحیه اول} \leftarrow x > 0 \leftarrow a = r$$

$$1 - ra + b = 0 \rightarrow ra - b = 1$$

(5)

$$f'(a) \times r_n^2 + a^{-n-1} \times 1r + a = 0 \rightarrow a = -1r$$

$$b = a = -4r - (-1r) = -3r$$

$$\sin x \approx x \rightarrow x \approx \frac{1 - \cos x}{r} \rightarrow x \approx \frac{1 - \cos x}{r} \rightarrow$$

(6)

$$\frac{f(x) f'(x)}{(1 - \cos x)^r} = \frac{x^{r_n} \times r_n x^{r_n-1}}{\left(\frac{x^r}{r}\right)^m} = \frac{x^{r_n-1} \times r_n}{r^{-m} \times x^{r_m}} = \frac{r_n}{r^{-m}} = r_n \sqrt{r} \rightarrow r_n - 1 = r_m \rightarrow$$

$$r_n \times r^n = r_n \sqrt{r} \rightarrow n \times r^{\frac{r_n+1}{r}} = r^{\frac{11}{r}} \rightarrow n \geq r \rightarrow m = \frac{V}{r} \rightarrow r_m + n = V + r = 9$$

$$\frac{\sqrt{x} + 1}{\sqrt{x} - 1} = y \rightarrow \frac{\sqrt{y} + 1}{\sqrt{y} - 1} = x \rightarrow \sqrt{y} = \frac{x+1}{x-1} \rightarrow y = \frac{(x+1)^2}{(x-1)^2} \rightarrow (8)$$

$$y' = \frac{-2x^2 + 2}{(x-1)^3} \xrightarrow{x=2} y' = \frac{-14 + 2}{1} = -12$$

$$\frac{1 - \lambda(1-a)}{1} = -11 \rightarrow 1 - \lambda + \lambda a = -11 \rightarrow \lambda a = -12 \rightarrow a = -\frac{12}{\lambda} \rightarrow -12a = 1 \quad (9)$$

$$f'(x) = -\frac{1}{x^2} (x^2+1)^2 + 2(x^2+1)^2 \times \frac{1}{x} \left(-\frac{1}{x^2} x + 1\right) \rightarrow f'(x) = -12 + 12 = 0$$

$$\frac{-1}{\frac{\pi}{\epsilon}} = \frac{-\epsilon}{\pi}, \quad \frac{(1-\epsilon) - \left(\frac{1}{\pi} - \frac{1}{\pi}\right)}{\frac{\pi}{\epsilon}} = \frac{\epsilon}{\pi}$$

$$\frac{-\frac{\epsilon}{\pi}}{\frac{\epsilon}{\pi}} = -1$$